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QUESTION 1

A customer has removed the Data Retention license key from a VSP.

What must be done so the customer can make use of the Data Retention functionality again?
A. Re-install the same license key again.

B. Order a new license key and install it.

C. Re-enable the license key.

D. Enter the Available Mode and re-activate the license key.

Correct Answer: B

QUESTION 2

You want to create a list of ports and WWNSs for a newly installed VSP. No LUNs have been mapped on the VSP. What
should you use to obtain this information?

A. raidscan -p

B. raidcom get port
C. HORCM port info
D. auport get info

Correct Answer: B

QUESTION 3

What are two valid locations for the Dynamic Mapping table of Dynamic Provisioning? (Choose two.)
A. in flash memory

B. in one of the pool volumes

C. in cache memory

D. in shared memory

Correct Answer: BD
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QUESTION 4

You have set Extended Round Robin in Hitachi Dynamic Link Manager (HDLM) running on a server with intensive
sequential I/O profile. Which two benefits result from implementing this algorithm? (Choose two.)

A. tracks preloaded to cache

B. blocks held permanent in Read Cache

C. no tracks preloading on the system

D. efficient cache usage on the storage system

Correct Answer: AD

QUESTION 5

A customer wants to suppress page migration for a certain Hitachi Dynamic Tiering volume on a VSP. How can this be
done?

A. by setting Multi-Tier Pool to Disable
B. by setting Tier Management to Auto
C. by setting Tier Relocation to Disable
D. by setting the Cycle Time to 24 hours

Correct Answer: C
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